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UNIT - I GENERAL SCIENCE - ZOOLOGY
UNIT X - APTITUDE AND MENTAL ABILITY

Two factors making up a pair of contrasting characters are called

a. Dominant Character b. Recessive character

¢. Chromosome d. Alleles

Bm eoumdwWmer  STyewider e  Gmmg  umiBeT  CHTAIBIUBBEGS
BT GUOTLDT 63T60) 6 STl DIEWLDEBLILI(H |66

a. @mEG L6 b. @®®HIE uewL

c. &GymGrGamid d. &16065605%6I

Rod shaped chromosomes are called as

a. Metacentric b. Telocentric
c. Submetacentric d. Acrocentric
BaxmeL augal &CrmELoTEFTIDSH6IT STl DIELDHBHLILIHEBGITB60T.
a. Ol LrmOgFen M b. 1eBeorQF e M
C. gl LTege N d. 968mesea M
Match the following
A. Basic Principle of heredity 1. Watson and Crick
B. Chromosomes 2. Hugo De Veries
C. DNA Model 3. T.H. Morgan
D. Role of chromosome in heredity 4. Waldeyer
E. Mutation 5. Mendel
A B C D E
a. b 4 1 3 2
b. 3 4 1 5 2
c. 5 4 2 3 1
d 3 4 2 5 1
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CUTHHHIH

A. oyiweder Sl HHHIAID 1. aurl et LMWL &Ifld
B. &Gym@uwnBamibsait 2. arulBam 1o aliflerd
C. DNA wrg 3. T.H. Guwnitser
D. wyiweder &GymGonB@amibserilen LbIEG 4. eume0@LwiT
E. 568 wissid 5. GILDEUOTL 60
A B C D E
a. b 4 1 3 2
b. 3 4 1 5 2
c. b 4 2 3 1
d 3 4 2 5 1
Biogenesis was speculated by whom?
a. Oparin b. Louis Pasteur c. Haldane d. Khorana
o it Umpliyes Casmium’enL oadldhgpeuT wmi?
a. gumfle b. euierd wmerdLT c. Bamevr it d. Qasmymeo

Who discovered the radioactive carbon dating method?

a. ].W. Harshberger b. Lamarck

c. Haldane d. W.E. Libby

sHNWSHE SATUGT HTEO D66 (LPeDBEMU HEWIL BIHSHeUT UITT?
a. J.W. amnirerdOLIiTeT b. eomionite

C. amme0GL 6ot d. W.E. a9

Who is father of Indian paleobotany?

a. C.M. Gupta b. Manju Sharma

c. Birbal Sahani d. Khorana

BphHw OHTe0 FHTeugalulevlet Hhend WITT?

a. CM. gusn b. weha &om

c. Utumed Fame d. Gamymesn

Atlas 66 a rich wheat variety

a. Protein b. Fat c. Carbohydrate d. Vitamin
Sl 6ver0 66 a LFibs Cargiend FaHLb

a. Uysib b. Gamupliy c. a&mBurewamt Gy d. el Lifer

Which one of the following chemical used for doubling the
chromosomes?

a. Restriction endonuclease b. Acetyl CoA carboxylase

c. L - carnitine d. Colchicine
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Lesteu(heueteuBmie  elbHoeureiiy &HEymGon@amib erevwtenibemaamuwl @TL 195HsH
LweTUGSSUILGLD CouglliGUT(HeT SLGHWD?

a. Qe Mager eremrGLmbuLBHeNGuwenD

b. @iFllmLe CamBw smiurésdBeverd

c. L — anireflenL e

d. smevddlen

Rice normally grows well in alluvial soil but is a rice variety

produced by mutation breeding that grows well in saline soil

a. Atomita - 2 b.IR -8 c. PNR-102 d.PNR-381

OBeL  OUTHIUTS  QUEHIL 6D  Loawienlled  OFINSHEH  UeNTHBSEH.  HLEIT6D

FHSHIOTBBSHH  clpevld 2 ML  OFuiwiul L o1 OIh6L J&ID

® ol H&eWD aUTUIHS LoewTenled OFINGHSHI U6 (HLD

a. oL LmicLr — 2 b.IRS8 c. PNR -102 d. PNR - 381

Match the following

A. Physical Mutagen 1. Black rot

B. Tritical 2. Nitrous acid

C. Chemical Mutagen 3. UV rays

D. Pusa Shubhra 4. Bacterial blight

E. Pusa Komal 5. Manmade cereal
A B C D E

a. 3 4 2 5 1

b. 3 5 2 4 1

c. 3 5 2 1 4

d 3 1 2 5 4

QUT(HSHBHIH

A. Bupliwe FhHF IBBHSHTIQHET 1. SBILIL] DILHSH6D

B. 19l i9&Bse0 2. eWBLIed Silevld

C. Gougled FBHDTBBSHHITCIIGH6I 3. UV sglisel

D. usr &ugm 4. urslefll &HmIGHeD

E. usm Gsmioed 5. DGN&HeT @ (Heumdhalul HTeonuid
A B C D E

a 3 4 2 5 1

b 3 5 2 4 1

C 3 5 2 1 4

d 3 1 2 5 4
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Who developed the DNA fingerprinting technique?

a. Eli Lilly b. Alec Jeffrey

c. ].W. Harsbberger d. W.E. Libby

19.61601.6) @lged Cremad GFHTHevmHI LUSHems GobuBSHSHWweuT wimT?
a. 6168 6606V b. &vs O.".LGy

c. JW. amnmerdQuiTasiT d. W.E. a9

Which one of the following is lysine rich maize hybrids?

a. Protina b. Rathna c. Shakti d. all of these
LTledT61(Th6veaTeUB N3G 611 H0leUTEIT ] 66V 60T BlenmhH S affMwGeur’
DS BTFEFTEND SYGLD?

a. yGymgeur b. y&ert C. 555 d. @mea SmISHSHID
Golden rice can prevent deficiency

a. Vitamin B b. Vitamin C  c¢. Vitamin A  d. Vitamin D
sns g GMBLUTL ML HHSHHBSI

a. el Liwdeir B b. el Lifer C c. ellLwear A d. el Lifer D

is the scientific process of developing crop plants enriched with
high levels of desirable nutrients

a. Biofortification b. Biomagnification

c. Bioremediation d. Bionics

Al(pLOUSSHHS 2611 L FHHIH6T SILRIHW LWITHTaUTEISmET 2 BLUSHEH Gguiul
LWSTLGSSLILBLD Sifialuied (Lpemm eTeaTLILI(HLD

a. uBwmBummgLICsa 6ot b. uBWITGL&aNILIBH e 6bt

c. uBWTQIToBuInges d. uGuimeiderd

Which one of the following replicates only inside the cells of other living
organisms?

a. Bacteria b. Yeast c. Virus d. Protozoa

Leiteumeueeupmien eibHoeunaim LIp o ulflemisefer OFeoselane oL BHGLW
QUHBBID DML &6BTN360T?
a. umdilefluwm b. meroL C. GneUT6M d. yGym _GLnGsmeur

Which one is called as sunshine vitamin?

a. Vitamin A b. Vitamin B2 c. Vitamin C  d. Vitamin D
b HOUTEI Gl el emeul L LO6T 6161l DIewLDE SIS 65T360T ?

a. el Lifler A b. el Liflesr Bio c. ellLar C d. el Lfer D
Which disease weakens the bones and makes it brittle?

a. Osteogenesis b. Osteoporosis

c. Hyperostosis d. Fibrodysplasia
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GTQIDLIBMET  aUIAINSEHF CFUIFH DUBOB 2 MLWS Fnlgul [HMeLHEG

Osmeni(h GFeveud GmTul 6157
a. 9LerolgBuiTllegentdlerd b. eyeroCuITCLTGyTHerd
C. eamlILTLeELTFerd d. ewuiBymgerdLiGermdum

Which disease caused due to Iodine deficiency?

a. Goitre b. Hyponatremia

c. Nyctalopia d. Myasthenia Gravis
SICwmgear uBBTESGmBUllaTed gBubLD Gmmul 61gh?
a. &TUILT b. ewamiiBumemMidluim

C. MaL Geomiwim d. wwrervgeiwm HGyaierd

Consider the following

Assertion (A): Haemoglobin contains iron

Reason (R): Iron deficiency leads to Anaemia

a. Both A and R are true and R is correct explanation of A

b. Both A and R are true and R is not correct explanation of A

c. Aistrue and R is false

d. A is false and R is true

LedTeu(heueToUBemMm LIS

gaBm (A): asCuorgGemmiiealsd EmL o 6o

smyend (R): @mwLs Gopunh SrssCstams Grraw gBLbBSHSHISBS
a. A ppid R &fl wBpid R esiug A alB@ sflwmer elendasion @b
b. A wppid R af wwBmpid R eemg A alBg Fflwmer elendsioeeo

c. Agfl spemed R Haum)

d. A sam spemed R &

Which is the chief source of energy?

a. Proteins b. Fats c. Carbohydrates d. Vitamins
SMBEN6L HTHnIgul LIFHTerT eLpeOlIOILIT(HET 61&)I7
a. LJHmIB6 b. Gamupliysei

c. smBurenaml By Gser  d. el Lifeisel

The world food day is celebrated on

a. 16th October b. 16th June

c. 15th October d. 15t July

® 0% 2 66| HID HWLLNgSHSLILBLD HT6
a. o1&8LmuT 16 b. egvair 16

c. o1BCLmuT 15 d. ggremev 15
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Match the following
A. Retinol 1. Rickets
B. Calciferol 2. Nyctalopia
C. Tocopherol 3. Scurvy
D. Ascorbic acid 4. Sterility
A B C D
a. 1 2 3 4
b. 2 1 3 4
c. 2 1 4 3
d 4 2 1 3
CUIT(HHSIH
A. QpLigenmed 1. M&6sL e
B. &me0dl.".Gugmed 2. Bl Geomlwim
C. GLnGBam.".0Lymed 3. enO&Ta]
D. seosnmis sideod 4. 1060L (HSHBHETMLD
A B C D
a. 1 2 3 4
b. 2 1 3 4
c. 2 1 4 3
d 4 2 Wa%
Which is certified the food products like juice, Jams sauce, canned fruits
and vegetables?
a. FSSAI b. FPO c. FCI d. AGMARK
LIDT&LD, QMID&6IT, &merd, USILGSHIUILLL HeHei, STUISMIH6NT, 2emmISTUIH6IT
(WHOWaBBIBG FTaIBaTlILS 615I?
a. FSSAI b. FPO c. FCI d. AGMARK
Match the following
A. Thiamine 1. Beriberi
B. Riboflavin 2. Pellagra
C. Niacin 3. Dermatitis
D. Pyridoxine 4. Ariboflavinosis
A B C D
a. 4 2 3
b. 2 4 1 3
c. 2 4 3 1
d 1 4 3 2
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CUTHHHIH

A. sunder 1. QuAGLIM

B. MGum. .L98Gemai 6t 2. QueoTyT

C. pwurdles 3. QLTIDTEML 961D

D. ewuflLmadler 4. emfBumlenmailBermenderd
A B C D

a. 4 2 3

b. 2 4 1 3

c. 2 4 3 1

d 1 4 3 2

Carbohydrates are organic compounds composed of carbon, hydrogen,
oxygen in the ratio of

a.2:1:1 b.1:2:1 c.1:1:1 d.1:1:2
STTCLTenaBL CJL_(hH6iT  6laiLmal  HTTLG, MAMBL JM6T WBHBID  DLdHdleyen
S FLIenal aeiB  ABHSHHmeid CBTWIL  DBISHHS  Fnl (BLI
QuUIT(BL_SHe6NTGHLD

a.2:1:1 b.1:2:1 € 1Pl d.1:1:2

Which one of the following is fat soluble vitamins?

a. Retinol b. Calciferol  c¢. Tocopherol d. All of these
LesTeu(heueteuBmie 6lbHGleuTeiim GamIpLiled Sengulld emeul L 06T SyGLW?
a. Ol igemmed b. smevd.".QLymed

c. BLmBarm.".oLymed d. 8mal SMRIHSHID

Emphysema is caused due to

a. Diabetes mellitus b. Alcohol consumption
c. Drug addiction d. Tobacco smoking
GTDeUFIOT 6TemID GHTenul 2 6wl TEGHS]

a. pifey Grmul b. 10z SIHHBSHISHEO

c. GurenalIGLTHeT LPSHD d. Lendulensd LIDEHID

Match the following

A. Sarcoma 1. Connective tissue cancer
B. Carcinoma 2. Stomach cancer

C. Immunotherapy 3. Excessive thirst

D. Polyphagia 4. Interferons

E. Polydipsia 5. Excessive hunger
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A B C D E
a. 1 2 4 5 3
b. 2 1 4 5 3
C. 1 2 4 3 5
d 2 1 4 3 5
QUIT(HSHBHIH
A. gnitaGsmiom 1. @wewilIsHa LBmIGHTUI
B. snitdGeumiom 2. auulimm yBBIGHTUI
C. @bBamasyind 3. 9IHSLILIQUITET HTHLD
D. uredGueglwim 4. @eTLiT.".QUIT6TSH6IT
E. umeSigtigluwim 5. @IFsluguimet Ld
A B C D E
a. 1 2 4 5 3
b. 2 1 4 5 3
C. 1 2 4 3 5
d 2 1 4 3 5

Consider the following

Assertion (A): When tobacco smoke is inhaled, the chemicals get
absorbed by tissues and causes harmful effects

Reason (R): Benzopyrene and polycyclic hydrocarbons present in
tobacco smoke carcinogenic causing lung cancer

a. Both A and R are true and R is correct explanation of A

b. Both A and R are true and R is not correct explanation of A

c. Aistrue and R is false

d. Ais false and R is true

Lled1eu(heueiouBens ouuls

gaBm (A): yeosulmevenl LmesESheLTIRs Siselen W GeudliGLmmL sei
FHFHHeMTe0 2 MBehFIUL(H SILTWSTLOTET allen6re|Henen 6JMLIHGS SIS eTN3601.
smewib  (R): ywasulemev Lemsulsd GuaIBFTenLfear wBmID uTelengdefld
emaml Grraniueise Gurem yUBBIGHTUIS SMTenidel SHULST6L Hlengulyed
UBBIGHTeL gBLGSSHIBlTBe.

a. A oppid R &fl wppid R esug A eB@ sflumer elendasion @b

b. A wBmb R #f wBmib R easiug A B gflwmer elendasioaen

c. Agfl gemed R Heaupl

d. A seap spemed R &

The drug most widely used against AIDS virus is

a. Zidorudine b. Miconozole c¢. Nawoxylol d. Virazole
AIDS o uiliesmeed eweugerdd@ 6IdHITed UWTLGSSLUGBD LoHHH 6T GuuwiT
a. ma@Lmepgest b, ewnBasrGam@amed  C. HTGaITanF6vT60 d. aflyGamev
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Which of the following is called as “biological catalyst’?

a. Vitamin b. enzyme c. fat d. carbohydrate
SpHHILUBBIeT 61FH ‘@ ulfluied allenaiulddl’ 6aIBenpSSILIGSBEHI?
a. el Lifler  b. ereiieng1d C. Qamapliy d. snrGurenamt GyL-
Match the following
A. Food and water 1. Fomite - Borne transmission
B. Mosquitos & Houseflies 2. Air - Borne transmission
C. Clothes & Syringes 3. Vehicle - Borne transmission
D. Droplets & Duet 4. Vector - Borne transmission
A B C D
a. 3 1 2 4
b. 3 4 2 1
c. 3 4 1 2
d 4 3 1 2
CUT(HSHHIS.
A2 _ewie] LOBEID HewTewiT 1.OuTmeT Ul Bl HHeo
B. Qsma oBmid 2.561BB Pl SLSHFHIH6L
C. giemll oBmID o6 3. HL Hyau FrHed aufl HLSHHIH60
D. a5dled (o) Faigel wBpid srd 485055 aulfl B GHHIH0
A B C D
a. 3 1 2 4
b. 3 4 2 1
c. 3 4 1 2
d 4 3 1 2

Robert Gallo discovered HIV which causes AIDS in year

a. 1994 b. 1984 c.1988 d. 1985
Symum’. CxsBeom eIl emg o (HautdGld HIV ewaugenevd sewibLiigsdHs SiewniB
a. 1994 b. 1984 c.1988 d. 1985

HIV size is about

a. 10-140 pm b.10-100 pm  c¢. 140-100 um  d. 100-140 um
o1F.22.01 UNedT LI(HLOGH SO

a. 10-140 pm b.10-100 pm  c¢. 140-100 um  d. 100-140 um
The presence of abnormal amount of sugar in urine referred as

a. Poluria b. Nocturia

c. Hyperglycemia d. Glycosuria
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FBBTHSHH60 DHBLOTET DleNIa)] FTHBMT SHTILILIHISDI
a. umevluflum b. mréiguyfluim
C. eamLILITaSlenemFolwm d. demendGamerduyfuim

Which of the following is an auto immune disease?

a. Asthma b.SCID  c. AIDS d. Multiple sclerosis
BIDHEMILMAUB6IMED 61FH Ful HewL STl Cpmut?

a. SLEVOSILOT b. oy @pESmenhsh SHmL ST GHmBa] GHTul
C. 6TUIL 610 d. uevaml (h GFFHed GHmuUl

Swine Flu is cause by

a. Rubella virus b. Rhina virus

c. HIN1 virus d. Alpha virus
U STUIFFN6L 2 (HoUTHGLD m6UT6erD

a. (pUeLGLT emeugerd b, enyGenm emeuyerd
c. HIN1 eweuyerd d. ee0. .um eneaurerd

Cirrhosis of liver is caused by chronic intake of

a. Opium b. Alcohol c. Tobacco d. Cocaine

&6060J60 Fi(HIHHD CHTul BDEHMILUBBIeT 61Hme GCHTLTHH 2 I 6lETeTeugHTe0
IBUGSBS!?

a. @Uiiuwib b. spevsamTed  C. Lamasulamev d. Garenmest
Nicotine belongs to group of drugs.

a. Stimulants  b. Narcotics c. Cannabis d. Analgesics
bleGamig 6ot UMBMWEF FMiTHe GUTens LO(HHSHI DhGLD.

a. deneyl 196 b, GUTeNs O(HHSI c. ®Gham d. eueld Mleuryeiabeit

Holandric genes are called

a. Carried by X chromosomes

b. Carried by autosomes

c. Carried by different parts of Y Chromosomes

d. Carried by X and Y Chromosomes

Gammeumewil M 236iH6T 6IBILIGH _ SDYGLD.

a. X @&Gym@uwrBambsenmed GFUIOLBHISILIBH MBS

b. oy’ GLrBgmbsenTed CFWOLIGGHIHLILIGH MBS

c. ueLBaum LGHHerlle0 2 6o Y &HCrmBom@amibasenmed OFWIOLIGHBLILIGS B
d. X iopmpid Y &8yn@on@amibsented OFweOLIGSHSLILIGH MBS

Ifa:b= 4:1, then the value of Ja/b++b/a is
a. g b. 4 c.8 d.

APPOLO STUDY CENTRE PH: D44-24333436, 42867545, 3840226187
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a:b=4:1aeled Ja/b+/b/a -&1 ALY
a. g b. 4 c.8 d.

N | w

The sum of three numbers is 38. If the ratio of the first to the second is
1:2 and that of the second to the third is 3:5 then the second number is
a.6 b.12 c. 18 d. 24

CLPGIIMI  CTEMIHOMAT FnBHe0 38.  (PH6V LOBBILD EJ6wILMD 6lewidbeir 1:2 616011
ABHHHHID 2 WwBWID 36uH  eTewideT 3:5 el AlBHHHE0 B(HHIHTEV
BT 60IL_T6UZH] 616001

a. 6 b. 12 c. 18 d.24

95 litres of mixture contains milk and water in the ratio 15 : 4. How much
more water is to be added to get a new mixture containing milk and
water in the ratio 3:1?

a. b litres b. 6 litres c. 8 litres d. 7 litres

95 QILLT Sevemeuulled LIT6L LOBMID Hewienimer alaslsd wpemmGuw 15 : 4 o5
BpHHEH. BUOLTIpgE Fev LT HewiewiT CHTebslLlLLIBEG ST alHHD
wempBuw 3 1 o5  WIBSBEH  61eled  eeleene] UL LT SHewreuotT
GFireslILl L g)?

a.5 el b. 6 68 c. 86l d.7 &

Third proportional of 10 and 30 is

a. 40 b. 30 c. 90 d. 33

10 wBpId 30 Pl eTewidelal cpaiBTeaug alSHHTFFTT 6l6wl 6157

a. 40 b. 30 c. 90 d. 33
1:1:3=2:3:5,’chen><:y:zis

Xy z

a.2:3:5 b.6:10:15 c.5:3:2 d.15:10:6
1.1.1_2:3:5, qafled XY :Z &g

Xy 2z

a.2:3:5 b.6:10:15 c.5:3:2 d.15:10:6

Find a positive number which when increased by 17 is equal to 60 times
the reciprocal of the number

a.17 b.15 c.8 d.3
R Wend 66wl WAL 1783 &gl BOUTEH  HewL &G0 ST
Sl61066mTenN6eT HEneLSIOUTHT 60 DL MISTGID 6160N60 I6101616mTTEN6MIH  HIT6wIH

a.17 b. 15 c.8 d.3
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Which of the following number is divisible by 9?

a. 67594310 b. 96345210 c. 8576901 d. 2784224
B OBTHHBLILIL (H6TTEN 6160IH6IM60 I aIGUBLD 6T6wwT WITgI?
a. 67594310 b. 96345210 c. 8576901 d. 2784224
23 4 5,
\/g ’ 5 ’ 5\/% ) 25 ).
6 6 6 7
. 5\/5 b. ﬁ C. E d. E

Find the wrong number in the series :
1,3,10, 21, 64, 129, 356, 777

a. 10 b. 21 c. 64 d. 356
o161 OHTLMN60 HEUMTET 6T60T6M6MIH SHTENIH

1, 3,10, 21, 64, 129, 356, 777

a. 10 b. 21 c. 64 d. 356

If one fourth, half and one third of the number are added to the number
itself, then result is equal to 25. Find the number.
a. 10 b. 11 c. 12 d.13

Q(H 6TeuoTenNedl [FTEIIHIE0 (h LG, LTS BmId cwainsled @ LGHaow D65
oTeiamIL_ 61  CFTHBHITev, SHMLHGD FHL] 25 &G FWb. 60 DbHSD
GTERIEN6NTEH  BHeWIL MIULIALD.

a. 10 b. 11 c.12 d. 13
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